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He hired workers to irrigate, and rain came; it is the workers’ loss

Overview

The X 3 cites a ruling of X27; if one hired workers to irrigate his field (the
following day), and it rained, so the field needed no further irrigation; it is the loss
of the workers (the owner is not required to pay them). NM501n reconciles this ruling
of X217 with a seemingly contradictory ruling.

- Y97 NI KIYT X299 NAYNT NN ¥HIWn
It seems from the X723 here that the 11297 is like 829 (that it is the loss of the
workers), since no one argues with xa-.

nooIN asks:
= Y029NT 199 MANT NINN (39 Ynnnn 207 0w 3,79 97 poa) IWANRY 23 9ANT N19IM

And it is astounding! For the X723 relates in 38w "» p79; there was that person

who said to his sharecropper -
- N9UR NN 9I0Y XNYN HHPWI NYAIN 29T NN P22 d9PYI NN 19T Ny '91a

“The entire world (all other sharecroppers) irrigates three times and takes a
fourth of the crops; but you should irrigate four times and receive a third of the

crops”; eventually it rained, and there was no need for the fourth irrigation' -
= PPYVEN ND NN 99N Na9 NDT NXD NN 90 29 99N

noY 27 ruled; but he did not irrigate (so he cannot take a third of the crops); 7129

ruled, but the field did not require irrigation (so he should receive a third) -
= 1295 N5YNT NN NI 31‘"5” 7309 NMIVNT DIVN NA9T NIYL RO~

And the explanation of s'5739 reasoning is because, they had mercy on the 01X

from heaven, and it is evident in the X 3 there that the 17297 is like ;729; this
contradicts the ruling of X271 here, who says it is the loss of the workers.”*

Mo0IN answers:
= NIV NN 1DAN YITYN 1T 1M MUIIND YPIPY TV DIINA NPITT 91990 W

And one can say; it is only by an R who cultivates the land as a
sharecropper, that the owner gives him a third even if it rained, because the

' See *"w there XNX 717,
% This reason is not found in the X713 (or 'o1m >"w") there. See ‘Thinking it over’.
? It is as if 71 irrigated the field on behalf the 0> for the fourth time, so he receives the third as negotiated.
* We do not say that 7 did the irrigation on behalf of the workers, so they should receive their pay.
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stipulation, that he should irrigate a fourth time, was made on account -
- 531N NY XYW DOON

Of a doubt by the owner that perhaps it would not rain; in that case he must give him
a third -
- RNYN MYTY 79085 XY X0 SNN 199N NY2T S9PWT S0IN INY 09

Just like the other 299" who take a fourth even if it rained and the 98 will

not need to irrigate even three times; this is regarding mo* X —
- 77989197 SY MYP9Y BNY 1M1 RIN POIIN DIINY DI XD YaN

However here, the workers are not sharecroppers, but rather he pays them

for their work, so therefore -
- WY 1 299 NIN D099 BNY PN NINNA 1NN 199N

Even if they began to work (and it started to rain) they can only take according

to what they did -
1PDIIN NPINA MONY XYINY DN RYT 113

since they did not enter the field with the assumption of becoming 2°0°X.

Summary
Regarding irrigation and rain; the workers receive only according to their work;

while 0°0>7X receive whatever was negotiated.

Thinking it over
1. Why was it necessary for mao1n to write® 7°5¥ *»m7 XonwnT 191 ana waom?

2. What would be the ruling if one contracted to do the irrigation (372p); where on
one hand he has no share in the produce (more like a 2319 than an 07X), but on the
other hand they are not paid for their work, but rather for the job (more like an 9>
than a 7¥19)?

> The owner wanted to make sure that his field would be properly irrigated (for which he was offering a third), so he
told the o> to irrigate it four times; however when it rained there was no need to irrigate it a fourth time, but the
owner nevertheless has to pay him because of their agreement that the field should be properly irrigated, just as it is
by a regular 57X (for his fourth) as N190I1N continues.
® Others amend this to X (instead of XY).
7 A sharecropper (as opposed to a worker) does not get paid according to his work, but rather according to what the
field produces (he is somewhat like a partner with the owner); his percentage depends on what was negotiated. The
agreement to irrigate four times was not that the owner wanted him to do it an extra time, rather he wanted to be sure
that his field would be properly irrigated and for that he is willing to pay a third. The field was properly irrigated and
therefore the 0K receives a third. A worker, however, has no interest in the field; the owner is paying him only for
his work; no work no pay!
¥ See footnote # 2.
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